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2. Use of 151343 a
3. Missing data, i

What are the advantages
A rectangular conc
prestressed by a s

a! lIIv vvllUav vr gyqr vr 
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urv rvvsllw-.*fiufl lrtv yrvDDurv r[lse,ff& a

span and support sections ofthe beam. Neglect the self weight ofthqbeam.

.bxpltiTitffii.Load balancmg Concepffiand "'Pressure lme"IHffiFL. (08Marks)
A rectangular concrete beam 250"mm wide by 3Q0rdffideep is prestretp,ed by a force of
540kN at a constant eccentripit| of 60mm. The fudffiup]orts a con$ffid load of 68kN
at the centre of span offidEi:?'etermine the locatiffiSf the pressure li&{W.the centre, quarter
span and support sectloflsfcnthe beam. NeTeg::-l+esellwelght olthfrbeam. (12 Marks)

What are loses 
"o"u*1rri"r"d 

in pre-tenrio post tensiorrinli' (06 Marks)
A concrete Ueam'Of iO m span, 100 mm *ia" urra 300 mm 

"ubl" 
ir 200 mm2 and ttre initial

skess in the cabffis 1200 N/mm'. qable;l is parabolic.with an eccentricity of 50 mm above
the centroid 4sthe supports and Sp elow at the qeiilr-g of span. Cable 2 is parabolic wittr[ft$elow at the c4fu of span. Cable 2 is parabolic wittr

mm below thqffim;id at the centre of span. Cable 3 is
I50 mm below.th& centrcid. If the cables are tensioned

p: tI.35, K:0.U015/m$, '$-3' 04 Marks)

a. Mention various stages of post tensioning. (03 Marks)
b. Distinguish between pretensioning and post tensioning. (05 Marks)
c. A.prestress"ftF,*_Abi"t:^beam,^1$ffiwide and 399* deep is pretensioned by straight

wires cartipg,6h*ihitial force of lt60ltN at an e"ccentricity of 50mm. The modulus of elasticity
of steel and h&lcrete are 210 q6rd35kN/mm' respectively. Estimate the percentage loss of
stuess in steel due to elastic &fo"rmation of concrete if the area of steel wires is 188mm2.

i=:i W

p:0.35, K= 0.0015/m, *.",

percentageJosS of stress in each cable due to friction

-..*:if+ (12 Marks)
,:,*,

a. What are folded plates$, f$tain their structural behavior. Give their field applications.
(10 Marks)

of shell roofs over
(10 Marks)

b. What are the =mff of shell structures? Explain the advantages
conventional r&o&''
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ol the walls. Sketch the plan6 a. Give thp d-etailing of typical ooe way slab, s

and cross-section.
b. Give a typical detailing of a square colum6$

and cross-section. *kjd$i*!

k&.'%*Y
Explain the sfirrctural be.havior of ffi Barrel vaults.7a.

b.

8

Explain stnrctural behavior and

Write short notes on any four

of folded olateh

*k#v
"-'Jga. Pretensioning * td

b. Post tensioning d\ @ 
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*fuc. Tensile struc'trres e- \ d*JV:. Tenllle struc.rrr_es ffi * 
m%vd. Applications ofprestrffi conctete *d

e. Geodesic dome $$qfres. d.. 4n
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